YouGov Survey Results

Sample Size: 1289 London Adults
Fieldwork: 5th - 8th July 2013

For the following question by the term ‘London’s airport capacity’
we mean the the amount of air traffic that ALL of London’s
airports can accommodate.

There is currently debate surrounding whether to expand
London’s airport capacity. Some argue it is necessary for the
capital’s economic growth whilst others argue against expanding
capacity because they say it would add to noise and air pollution.

When thinking about any changes to London’s airport capacity,
which ONE of the following proposals, if any, is closest to your
view on this issue?

Unweighted Base
Weighted Base

| think there should be a new four-runway “super airport” built in London
(i.e. In a completely new location)

| think Heathrow Airport should be expanded (i.e. by adding a third
runway)

| think one of the other airports should be expanded (e.g. Stansted, City
or Gatwick)

Do nothing — make no changes to the current airport capacity in
London

None of the above
Don't know

Total

1289
1289

21%

26%

27%

12%

3%
11%

Gender

Male

622
613

26%

29%

26%

6%

4%
9%

Age

Female 18-24 25-34 35-44 45-54 55+

667
676

16%

23%

28%

18%

2%
13%

174
153

16%

25%

28%

14%

5%
12%

315
349

20%

26%

25%

16%

1%
12%

167
193

28%

20%

22%

18%

2%
9%

185
233

16%

32%

26%

11%

4%
10%

448
361

22%

24%

32%

6%

4%
11%

Social Grade

ABC1 C2DE

814
773

22%

25%

28%

12%

3%
9%
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475
516

18%

26%

27%

13%

3%
14%

Married/ Civil
Partnership

477
510

19%

32%

28%

10%

2%
9%

Livingas Separated/

married ~ Divorced

123
128

26%

18%

30%

13%

2%
11%

You

What the world thinks

Marital Status

112
105

28%

20%

32%

9%

2%
8%

Widowed

30
23

33%

22%

13%

25%

7%

Never
Married

424
410

20%

23%

23%

15%

5%
14%

Refused

123
114

17%

20%

34%

14%

3%
13%
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Total

1289
1289

21%

26%

27%

12%

3%
11%

Working
full time

691
728

20%
26%
29%

13%

2%
11%

Working
part time

114
130

22%
28%
30%

6%

3%
12%

Work Status
Full time )

student Retired

102 247
101 191
18% 25%
25% 25%
24% 24%

18% 8%

3% 5%
12% 13%

Not
Unemployed  working/

Other

56 79

62 77
29% 13%
25% 22%
18% 30%
21% 9%
2% 14%
6% 12%
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925
897

23%

24%

28%

12%

4%
10%

Children in Household

149
167

22%

25%

28%

12%

1%
12%

99
109

16%

31%

25%

15%

12%

3+

52
64

8%

36%

33%

18%

1%
4%

Refused

64
53

12%

25%

16%

11%

10%
26%

You

What the world thinks
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Total

1289
1289

21%

26%

27%

12%

3%
11%

Facebook  LinkedIn

837
865

22%

26%

26%

12%

3%
12%

Social Media (monthly or more)

286
251

24%

31%

24%

8%

3%
9%

Google+  Twitter

86
72

22%

30%

28%

11%

2%
7%

371
355

18%

27%

29%

14%

3%
9%

Myspace

13
15

24%

21%

38%

17%

None of
these

350
336

19%

22%

29%

15%

4%
11%
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Local Education Authority

Central

269
239

24%

24%

20%

15%

3%
13%

North = South East West

144
128

24%

19%

29%

13%

1%
14%

289
303

23%

23%

27%

13%

2%
13%

340
351

23%

23%

30%

11%

5%
9%

247
269

13%

36%

29%

11%

3%
9%

You

What the world thinks
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